Quiz 1: Ten minutes

1. Recalling the compiler toolchain diagram in the text: what are the
input and output of the compiler?

2. The MIPS architecture supports a number of registers that are

specifically designed to support functions: Sra, Ssp, Sfp, Sv0/Sv1,
Sa0-Sa3, etc.

Name two expectations/assumptions that you make about
functions and explain how a specific register from above supports
each expectation.



Quiz 1: Ten minutes

1. Recalling the compiler toolchain diagram in the text: what are the
input and output of the assembler?

2. The MIPS architecture supports a number of registers that are

specifically designed to support functions: Sra, Ssp, Sfp, Sv0/Sv1,
Sa0-Sa3, etc.

Name two expectations/assumptions that you make about
functions and explain how a specific register from above supports
each expectation.



Quiz 1: Ten minutes

1. Recalling the compiler toolchain diagram in the text: what are the
input and output of the linker?

2. The MIPS architecture supports a number of registers that are

specifically designed to support functions: Sra, Ssp, Sfp, Sv0/Sv1,
Sa0-Sa3, etc.

Name two expectations/assumptions that you make about
functions and explain how a specific register from above supports
each expectation.



Quiz 1: Ten minutes

1. Recalling the compiler toolchain diagram in the text: only the linker
takes more than one input. What is the linker’s role?

2. The MIPS architecture supports a number of registers that are

specifically designed to support functions: Sra, Ssp, Sfp, Sv0/Sv1,
Sa0-Sa3, etc.

Name two expectations/assumptions that you make about
functions and explain how a specific register from above supports
each expectation.



